Pole-Wrap Side Cap Display Instructions

10-24 Machine
@ Screws & Kep Nuts ~ Qty: 16

1/4-20 Machine
=) Screws & Kep Nuts  Qty: 12

? #8 x 1/2 Phillips Truss Head
Sheet Metal Screw Qty: 12

IMPORTANT SAFETY NOTE: The display
must be bolted to the metal upprights of
the H rack with the supplied 10-24 boits.

NOTE: The difference in the hole patterns
between the upper and lower tubes are
as shown here.

Upper Tubes
(3 holes on
reverse side)

i

. Tube Joiner

B_/Channels
Holes

3

s
[ —

Lower Tubes
(2 holes on
reverse side)

Page 1 of 3

Tools Required:

- Powered Screwdriver with Phillips bit
-3/8"Wrench

-7/16"Wrench

Top Pan Assembly

Shelf Cap (Qty: 1)

Similar to shelves

but upside-down
and no front lip

W

Upper Shelf
Upper Tube Channel
~—
Shelf Channel
Joiner
Tube Joiner

————— Lower Shelf
Channel

\\{ﬂ 3

Lower Tube i l%‘\‘ﬂ

Q/&a\

Shelves (Qty: 3)

=
[ ——
f ——

Bottom Pan Assembly

7159un11p1/3



Pole-Wrap Side Cap Display Instructions

4. Bolt the 2 rear holes of shelf cap
to the upper shelf channel using

(gty 2) 10-24 x 1/2" machine screws
& kep nuts.

5. Bolt the upper shelf channel to the
top pan assembly using 1/4-20 x 1/2"
machine screw and kep nuts. Attach
bottom pan assembly to lower shelf
channel

3. Bolt shelf cap to top pan assembly
with (qgty 2) 1/4-20 x 1/2” machine screws
and kep nuts. (Screw heads on top, nuts
on bottom. This allows header sign to sit
flat on upper pan lip. Note: the orienta-
tion of shelf cap is upside-down com-
pared to the orientation of the other 3
shelves. Note: the orientation of shelf

cap is upside-down compared to the 0
orientation of the other 3 shelves. &/\ 6. Bolt shelves (as shown)
% to shelf channels using
2 ] 10-24 x 1/2" machine

1. Assemble tubes using tube joiners ) ] screws and kep nuts.
and (qty 4) #8 x 1/2" Sheet Metal . \ Note: Use outside holes

—
screws. Note the hole pattern in the f\;\@/ on lower shelf channel to
A

upper and lower tubes (page 1). mount middle shelf

\/Eﬂ . m K 2. Use (qty 6) 10-24 x 1/2" machine

screws and kep nuts to connect shelf
channels. Note: Shelf channel joiner
S fits outside channels. Note: Hole
e \ pattern in upper and lower channels,
see page 1 hole pattern. Note: Leave
bottom outside holes open for shelf

8. Connect tube assemblies to
front of the shelves using (qty _—

8) #8 x 1/2" Phillips Truss head
sheet metal screws. U
!

Quick Hardware Reference:

. Use #8 x 1/2 sheet metal screws for building
tube assemblies.

. Use 10-24 x 1/2" machine screws for attaching
to shelf channels.

. Use 1/4-20 x 1/2" machine screws for attaching 7. Bolt front of Shelf to

to the pan assemblies. bottom pan assem'bly with
. Use #8 x 1/2” sheet metal screws for attaching 1/4-20 x 1/2" machine screw
shelf fronts to tube assemblies. and kep nuts. (Screw heads

on top, nuts on bottom).

Page 2 of 3 7159jun11p2/3



Page 3 of 3

Pole-Wrap Side Cap Display Instructions

9. Peel tape backing
and attach 33" x 8"
flex hinge C-channel
to front lip of top pan.
Secure hinge to front
lip with 3 self tapping
screws by screwing
through the front

of the hinge and
allowing the C-channel
to hang down and
cover the screw heads.
Insert header sign into
C-channel. Note: Flex
hinge C-channel and
sign are not included
in display box. (Order
on ePOP).

NOTE: Mount unit
on the H-Rack so
the bottom pan is at
least 12-inches off
the floor.

LA

715%9un11p3/3



